TreeSet
TreeSet is one of the most important implementations of the SortedSet interface in Java that uses a Tree for storage. The ordering of the elements is maintained by a set using their natural ordering.  It can also be ordered by a Comparator provided at set creation time, depending on which constructor is used. 

· guarantees log(n) time cost for the basic operations (add, remove and contains)

· guarantees that elements of set will be sorted (ascending, natural, or the one specified by you via its constructor) (implements SortedSet)

The TreeSet uses a self-balancing binary search tree, more specifically a Red-Black tree. 
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import java.util.*;
public class Main
{
  public static void main(String[] args)
  {
    Scanner con = new Scanner(System.in);
    TreeSet<Integer> s = new TreeSet<Integer>();
    s.add(10); s.add(5); s.add(25); s.add(1);
    s.add(8); s.add(20); s.add(10); s.add(30);
    System.out.println(s.size());
    int val = 8;
    if (s.contains(val))
      System.out.println("Set contains " + val);
    else
      System.out.println("Set does not contain " + val);
    s.remove(8);
    for(Integer x : s)
        System.out.print(x + " ");
      System.out.println();
    // Iterate using Iterator
    Iterator<Integer> it = s.iterator();
    while(it.hasNext()) 
      System.out.print(it.next() + " ");
    System.out.println();
    con.close();
  }
}
E-OLYMP 5337. Different - different n integers are given. How many of them are different?
► Insert all numbers into TreeSet. Print the number of elements in the TreeSet.
import java.util.*;
public class Main
{
  public static void main(String[] args)
  {
    Scanner con = new Scanner(System.in);
    TreeSet<Integer> s = new TreeSet<Integer>();
    int n = con.nextInt();
    for(int i = 0; i < n; i++)
    {
      int val = con.nextInt();
      s.add(val);
    }
    System.out.println(s.size());
    con.close();
  }
}
E-OLYMP 5089. Vocabulary n strings are given. Print them in alphabetical order.
► Insert all strings into TreeSet<String>. Print the strings in alphabetical order.
E-OLYMP 7546. I’ve been everywhere, man n town are given. How many distinct towns is there?
► Insert all strings into TreeSet<String>. Print the numbeer of strings.

Problem contains multiple test cases.
E-OLYMP 3966. Ardent
 Butterfly Collector Set of integers is given. For each given integer decide does it belong to the given set.
► Insert all integers into TreeSet<Integer>. For each query number x use contains method to decide whether x belongs to the set.
E-OLYMP 2661. Price labels Two sets are given. Unite them and print the resulting set.
► Insert all integers of first and second set into TreeSet<Integer>. Print all elements of resulting set.
E-OLYMP 2927. Sets Union n sets are given. Unite them and print the size of resulting set.
► Insert all integers of all sets into TreeSet<Integer>. Print the size of resulting set.
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